-
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02
0.01

e

Ratio

=0.02
[
.018
(8]
9.016
5}
$.014
()
0.012
0.01
0.008
0.006
0.004
0.002

Ratio

1.0

Efficiency vs P,

0.1

...............................................

...............................................

...............................................

...............................................

1 10 . Gedf’

—=— DQM_ttbarPU_mkFit_5iter
—e— DQM_ttbarPU_mkFit_5iter_updatedPR111_update
—— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation

...........................................

......................................

....................................

Vs

[y

Efficiency vs ¢

=0.02

etjcIgnCyys

.018
.016
.014

0.012

0.0

0.008
0.006
0.004
0.002

Ratio

TTT]]

.|.'.'..'.|l.:..'..'.!.'.'.!.!.'.'.!.!.'.'.!.!.

Y

.............................

L

&

¥
"
¥

1.0

0.95

prorI LT LT __"..'

SEE SR SR Lol = R B © TEEEE R E = = SRR TR

)



	Contents
	Page 1


